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Instructions :

Ql

(i) All questions are compulsory.

(i)  Question Nos. 1 to 5 are objective type questions which
contain choose the correct alternatives, Answer in one word,
Fill up the blanks. Match the column, True or False. Each
question carry one mark.

(iii))  Question Nos. 6 to 10 are very short answer type questions.
Each question carry 2 marks. Word limit 30 words.

(iv)  Question Nos. 11 to 14 are short answer type questions. Each
question carry 4 marks. Word limit 75 words.

(")  Question Nos. 15t0 21 are long answer type questions. Each
question carry 4 marks. Word limit 120 words.

(v)  Question Nos. 22 to 26 are very long answer type questions.

~ Each question carry 5 marks. Word limit 150 words.

(vi) There is no boundation of word limit in numerical questions.

Choose the correct answer. I x5=5

(@  The person on whose behalf the agent acts is called :
(1) Cheif agent (i1) Principal
(iii) Intermediary (iv) Retail trader

(b) Goodwillis:
(1) Floating asset (i) Fixed asset
(ii1) Tangible asset (iv) Fictitious asset

(¢)  When the number of partners in a firm exceeds twenty (in the

case of banking firm ten) it is called :
(1) Dissolution of firm at will

(11) Compulsory dissolution

(ii1) Dissolution by agreement

- (iv) Dissolution of firm on happening of a contingency



Q2

Q3

Q4

@

The amount of premium brought by new partner is credited in:
(1) Capital Account of new partner

(if) Premium Account
(iii) New Partner’s Current Account
(iv) Bank Account
(e) Debenture is :
(i) A certificate for loan taken by company
(1) A certificate of share received
(iii) A certificate for loan granted
(iv) A certificate of allotment of shares

* Write True/False : 1x5=5
(@) Account sale is prepared by the consiguee. '

(b)  Contribution of capital is an essential element of partnership.
(¢)  The dissolution of firm means the dissolution of partnership.
(d)  The undistributed profit shown in the balance sheet a #
: time of new partner’s admission is distributed to all partner.
(¢)  Debentures are issed by the company under its common seal.
Fill in the blanks : : 1x5=5
(@  The consignment account is prepared by the
(b) The business of partnership must be '
(¢) Change in partnership agreement amounts to of
partnership firm.

(d) The amount paid by new partner for acquiring his share in the

: assets of the firm is called

(¢)  The consideration for debentures is

Answer in one word/sentence : Ix5=5

(a) ~ Which commission is paid for realizing credit sales and bearing
the risk of bad debts? |

(b)  When are partner’s current accounts prepared?

(¢) How many times the realisation account is prepared during
firm's life?

{d¢) How much amount is received on the death of a partner if the
firm has taken life policy of all partners?

()  Which type of debentvres can be converted ‘into shares?



Q5

Q6
(On)
Q7
(Or)
Qs
(Or)
Q9

(Or)
Q.10
Or)
Q.1
(Or)

QI2
(Or)

Match the columns : :
(A) | (B)

(@) Commission Accountis = (i) Itiscredited in premium
prepared _ account

(b) Goodwill is saleable (i) Are closed

(c) All the books of accounts (i) By the consignee

(d) When goodwill is brought (iv) Member of a company
by new partner in cash

(e) A debenture holder is not
regarded

(v) Assets

Explain ;statutory position of debenture holder.

What is debenture?

What is meant by Accounting Ratio?

What is meant by Financial Analysis?

Write the formula of Liquidity Ratio.

Explain the Current Ratio. http://www.mpboardonline.com

From the following information calculates Gross Profit Ratio :
Cost of goods sold Rs. 900000, Sales Rs. 1200000.

Which items are included in Current Assets? (any four)

- What is working capital? Explain.

Explain the term "Cash Equivalents"

Write the causes of dissolution of firm.
Explain the compulsory dissolution of a firm.
Expiain the Realisation Account.

I1x5=

5

-
2

A, B and C are partners in a firm and share Profit and Loss in the ratio
of 1 : 2 : 3. They dissolved the firm on 31st December, 2017. On this

date the Balance Sheet of firm was as follows :

Balance Sheet

Liabilities Amount (Rs.) | Assets Amount (Rs.)
Creditors 60000 | Fixed Assets 100000
Capital Current Assets 40000
A :30,000 Cash 10000
B:30,000
C:30,000 90000

150000 150000




QI3
(Or)

Q.14
(Or)

Q.15
(Or)

Q.16
(O¥)

Q17

(Or)

10% less than book value was realised from assets. Creditors were
paid in full. Dissolution expenses of Rs. 500 paid in cash. An amount
of Rs. 500 was paid for contingent liabilities for which no provision
was made in the books.

Prepare Realisation Account
Write the characteristics of preference shares. 3

Rohit Ltd. [ssued 8%. 10,000 preference shares of Rs.10 each to the
public. All amount received in lump-sum. Pass the necessary journal
entries in the books of Rohit Ltd. '

Explain kinds of preference shares. | 3

Mohit was holding 250 equity shares of Rs.10 each on which he paid
Rs. 5 on application but could not pay Rs. 3 on allotment and Rs. 2 on
first and final call. Directors forfeited the shares. Give journal entry
for recording the forfeiture of shares.

Which law does apply in the absence of a partnership deed? 4

A and B are partners in a firm whose capital on 1st January, 2017 were

Rs. 25.000 and Rs 20,000 respectively. They are allowed interest on

capital at 8% per annum and interest on drawings is charged @ 12%

per annum. A gave Rs. 10,000 to the firm asa loan on 1st July, 2017 at.
6% per annum. B is entitled to receive an annual salary of Rs. 5,000.

Interest charged on their drawings were Rs. 600 and Rs. 500

respectively at year ending on 3 1st December 2017. The profit before
making above adjustments was Rs. 25,000.

Prepare Profit and Loss Appropriation Account for the year 2017. .
Explain difference between Equity share and Preference shére’. 4
Sachin Ltd. invited application for issuing 20,000 equity shares of Rs.
10 each at a discount of 10%. The whole amount was payable on
application. The issue was fully subscribed.

Pass the necessary Journal Entries.

Which point should a company keep in mind while redeeming its
debenture? 4

Explain kinds of debentures-according to registration.



QI8
(Or)

Q19
(Or)

Q20
(Or)

Q2r

. (On)

Q22

Write difference between share and debenture.

4

- M/s Gupta Company issued 1,000, 7% debentures of Rs. 100 each at

10% premium. Rs. 30 on application and balance on allotment was

payable.

Pass the necessary Journal entries in the books of company.
Explain the objectives of Ratio analysis.
From the following information prepare a comparative income

4

statement?
Particulars 2008 (Rs.) 2017 (Rs.)
Sales 200000 250000
(-)Cost of goods sold (100000) (130000)
100000 120000
(-) Operating Expense 100000 10000
90000 110000
Explain the importance of Cash Flow Statement. 4

Write the items of sources and application of Cash Flow Statement.

What is the difference between Cash Flow Statement and Cash
Budget? 4

Calculate cash flow from operating activities from the following

information :

2016 (Rs.) 2017 (Rs.)
Profit & Loss 240000 220000
Debtors 124000 100000
Outstanding Rent 84000 48000
Goodwill 152000 160000
Prepaid Insurance 8000 16000
Creditors 76000 52000

The Pratha Drug House, Gwalior consigned 35 boxes of medicines to
M/s Mona Medical Store, Bhopal at Rs. 7,000 and he paid Rs. 700 for
carriage and frieght.

[n transit, 5 boxes were lost and Railway Company paid Rs. 1,000 for
the loss. The consignee took delivery of the remaining boxes and .
incurred Rs. 420 for expenses on it. The consignee sent and Account
Sales intimating the sales of 25 boxes for Rs. 7,500. The selling
expenses incurred by them amounted to Rs. 600. They are entitled to
a commission of 5% on gross sales.

Prepare Consignment Account



(Or)
Q2
~©n
Q24
(©Or)

Q25

(Or)
Q26
(Or)

Distinguish between Consignment and sale.

Distinguish between Sacrificing ratio and Gaining ratio. 5
Discuss the methods: of valuation of goodwill.

Explain the causes of admission of 2 new partner in firm. 5

A, B and C are partners in a firm. They share Profit and Loss in the
ratio of 2 : 4 : 6. Their Balance Sheet on 3 1st December, 2017 is follows

Balance Sheet
Liabilities Amount (Rs.) | Assets Amount (Rs.)
Capital | Building 120000
A :48,000 Furniture 32000
B :40,000 Debtors 40000
C:32,000 120000 | Cash 8000
General Reserve 36000 :
Creditors 44000

200000 200000

On 1st January 2018 C retired. The goodwill of the firm was valued at
Rs. 60,000. The amount payable to C be transferred to his Loan
Account. Prepare Partners Capital Account.

Kapil Ltd. issued 1,000 shares of Rs. 10 each ata premium of Rs. 2 per
share. Amount payable as follows - Rs. 4 on Application, Rs.4 on
Allotment (including premium) rest on first and final call. The issue
was fully subscribed and whole amount received. Pass the necessary
journal entries. 5

Discuss the procedure of forfeiture of shares.
Explain the objectives of preparing Financial Statement. 5

Under what heading the following items are shown in the Balance
Sheet of the Cdmpany.

® Work in Progress

(i) Share Forfeiture Account

(i)  Subscribed Capital

(iv) ~ Preliminary Expenses

(v)  Proposed Dividend
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